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L (@) In a steel root truss a tie member 3. (u) A disconfinuous strut in a truss

(h)

:
e 4

consists of an angle section 80 ~
80 » 8 mm. Design its welded
connection to a gussct plate 10
mm thick using side welds only.
Assume Fe-410 grade of steel
and shop welding. the force in
the member being 100 KN, |6}
A plate bracket 10 mm thick 1s
attached to the flange of a
column ISHB 300 7w 63 Ku/m
by 6 mm fillet welds as shown in
figure. Calculate the maximum
factored value of load P <afen
carricd by the bracket. | 10
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- design is safe or not.
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A single holted butt joint with
double cover plates has main
plates 8 mm thick and cover
plates of 5 mm thickness. using
16 mm bolts of grade 4.6 and Fe-
410. Provided at 50 mm pitch
find the efficiency of the joint. |6]
A plate bracket connected to the
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column carries a factored load of

100 kN applied as shown in fig.
There are 8 bolts of 16 mm dia of
grade 4.6. Find out whether the
[10]
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carries an axial load of 130 kKN
(factored). The lenath between
centres of connections s 1.8 m.
Design an cqua ancle sectien
for this. Do noi Jdesiun ihe
6]
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seclion, he codumn s o.0m an

hereht with top and bottom baoth
oplanned. Also design a sastem of
batten plates for the column. [16]
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. A beam of eftective span 4.0 m is

simphy supported at its ends. The

compression flange of the beam is

fully restrained. Design a suitable |-

section, if it carries a uniformly

distributed load of 24 KkN/m

(factored). [16]
OR

A column carries an axial load of 10. For a fixed beam of varying

2000KN. It rests centrally on a steel
base plate of size 800mm x 800mm,
Design a two tier gritlage foundation
for it, if bearing pressure on soil is
limited to 200kN/m?, [16]
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(a) Draw a neat diagram of a g
base for a column and labe] the
components. [6]
A column has section [SHR
25054.72 kg/m  and s
subjected to an axial factored
load of 1200 kN. Design the
gusseted base for the column.[10]
OR/
Briefly explain the terms shear
lag and block shear associated
with design of a tension member,
16]
A tension member used in 2
hracing system has to transmit
a factored axial load of 150kN.
Desien a suitable equal angle
section for this. Assume grade
ol steel as Fed410 and of bolts
as M20 of grade 4.6.  [10]
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Find shape factor for a T section
ISNT 100@14.92 khg/m.  [6]
A three span continuous beam
is subjected to working loads 8
shown in Fig.3. Calculate the
uniform value of Mp with which
the beam would be safe. Take
load factor as 1.8. (10} -
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shown in Fig. 4. determine the timég
value of collapse load. (16
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